Family of straight lines (HKMO Classified Questions by topics)
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a and b are constants. The straight line 2ax + 3by = 4a + 12b passes through a
fixed point P whose coordinates do not depend on a and b.

Find the coordinates of P .
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The straight line %_%: 2a + b passes through a fixed point P .

Find the x-coordinate of P .
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For any value of m, a straight line y = mx + 2m + 2 passes through a fixed point
P. Find the coordinates of P .
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The lines (9x — 6y + 3) + k(x —y + 1) =0, where £k is any real constant, pass through
a fixed point P(c, m) , find the value of ¢ .
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Given four points R(0, 0), S(20, 0), 7(20, 6) and U(0, 6). If the line y = b(x—7)+4
cuts the quadrilateral RSTU into two halves of equal area, find the value of b .
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Answers
2010 FIS.2
1990 HI5 1991 HI6 1996 HI6 1996 FIS.3 1
P(2,4) 6 (-2,2) 1 —5
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